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Pre-Calculus 12 Enriched Trigonometric Equations & Identities

Lesson 4 Sum and Difference Identities...again
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Ex. 1) Given sin o= gwith a in QII and cosf = 15—3 with tan 8 > 0, determine the exact value of
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d) The coordinates of P(« + f3)
(COS (°< +/33/ s’ (c(‘i 0>)

(-se 32
s, LS

—_—

(( n CLU\QO&WO«’J(. i



L4 Sum and Difference Identities again.notebook

Pre-Calculus 12 Enriched Trigonometric Equations & Identities

Ex. 2) Using cos (g + g) , verify that cosm = —1.
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Ex. 3) Prove sin(m — x) = sinx
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Ex. 4) Prove sin(4 + B) + sin(4 — B) = 2sin A cos B
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